

Mr. Stacy Slawinski, PE July 6, 2021

County Engineer Project No: 006696 621036 Fort Bend County Invoice No: **Engineering Department** Legacy Project No: 0262.016.000

301 Jackson St. Richmond, TX 77469

2013 Fort Bend County Mobility Bond Project Purchase Order No.: 117762 Amount: \$1,797,875.00

Project Management Agreement Termination date extended: December 31, 2022

# For Professional Services rendered from March 17, 2021 to June 25, 2021:

Project Management

### **Professional Personnel**

Hours	Rate	Amount
19.00	250.00	4,750.00
5.00	200.00	1,000.00
36.50	200.00	7,300.00
2.00	125.00	250.00
5.00	90.00	450.00
67.50		13,750.00
	5.00 36.50 2.00 5.00	19.00 250.00 5.00 200.00 36.50 200.00 2.00 125.00 5.00 90.00

13,750.00

\$13,750.00

## 13201 Beechnut Boulevard

### **Professional Personnel**

	Hours	Rate	Amount
Project Manager			
Odreman, Gabriel	7.00	200.00	1,400.00
Totals	7.00		1,400.00
Total Labor			

1,400.00

\$1,400.00

# 13205a Lift Station at Packer Lane

# **Professional Personnel**

	Hours	Rate	Amount
Department Manager			
Gonzalez, Martin	2.00	250.00	500.00
Project Manager			
Odreman, Gabriel	17.50	200.00	3,500.00
Associate Engineer			
Edwards, Katlyn	11.25	125.00	1,406.25
Ihsan, Elisa	3.50	125.00	437.50
Richardson, Mark	9.00	125.00	1,125.00
Totals	43.25		6,968.75

**Total Labor** 6,968.75

Project	006696	Fort Bend Cou	Fort Bend County Project Management			Invoice	621036	
							\$6,968.75	
13207 Lake	Olympia Parkway Seg	ment 1						
Professiona	l Personnel							
			Hou	rs	Rate	Amount		
Project	Manager							
	riffin, Jonathan		8.0	00	200.00	1,600.00		
Od	lreman, Gabriel		5.0	00	200.00	1,000.00		
	Totals		13.0	00		2,600.00		
	Total Lab	oor					2,600.00	
							\$2,600.00	
13218x Sug	ar Land-Howell WKBI	D Trail						
	l Personnel							
			Hou	rs	Rate	Amount		
Departi	ment Manager		1104	• 5	Tutt	Timount		
	onzalez, Martin		4.0	00	250.00	1,000.00		
	Manager					,		
	riffin, Jonathan		1.0	00	200.00	200.00		
Od	lreman, Gabriel		12.0	00	200.00	2,400.00		
Associa	ate Engineer							
Ri	chardson, Mark		37.0	00	125.00	4,625.00		
	Totals		54.0	00		8,225.00		
	Total Lab	oor					8,225.00	
							\$8,225.00	
13409 US 90	0A at SH 99							
Professiona	l Personnel							
			Hou	rs	Rate	Amount		
Senior	Project Manager		22011	- 0	21000	12220422		
	lje, Bassem		4.0	00	240.00	960.00		
	Totals		4.0	00		960.00		
	Total Lab	oor					960.00	
							\$960.00	
Reimbursal	ble Expenses							
Reim E	Exp-Mileage					104.16		
		mbursables			1.0 times	104.16	104.16	
							\$104.16	
Recap:			Current		Previous	To-Date		
Total B	Billings		34,007.91		1,797,215.15	1,831,223.06		
	ontract Amount					1,897,875.00		
Ba	lance					66,651.94		
					<b>Total Due This</b>	Invoice·	\$34,007.91	

Remit Payment:
RPS Infrastructure, Inc.
575 N. Dairy Ashford, Suite 700, Houston, Texas, 77079
T: (281) 589-7257 -

# Billing Backup RPS Infrastructure Inc. (Live)

Invoice 621036 Dated 7/6/2021

Friday, June 25, 2021 3:47:10 PM

# **Professional Personnel**

		Hours	Rate	Amount
Department Manager				
22 - Pipkin, Lynn	3/30/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	3/31/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	4/5/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	4/6/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	4/13/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	4/14/2021	2.00	250.00	500.00
22 - Pipkin, Lynn	4/15/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	5/4/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	5/11/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	5/18/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	6/1/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	6/3/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	6/7/2021	1.00	250.00	250.00
Review of project status in	the 2013 Bond Program	ı		
22 - Pipkin, Lynn	6/8/2021	1.00	250.00	250.00
Review of project status in	the 2013 Bond Program	1		
22 - Pipkin, Lynn	6/14/2021	1.00	250.00	250.00
FBC Oversight of Tasks				
22 - Pipkin, Lynn	6/15/2021	1.00	250.00	250.00
FBC Oversight of Tasks				
22 - Pipkin, Lynn	6/21/2021	1.00	250.00	250.00
22 - Pipkin, Lynn	6/22/2021	1.00	250.00	250.00
Project Manager				
6 - Bathe, Cody	4/7/2021	3.00	200.00	600.00
Meeting at FBC with other meeting for 2020 Bond pro		liscuss upcoming u	ıtility	
6 - Bathe, Cody	5/7/2021	2.00	200.00	400.00
Master works training with	n FBC			
6 - Odreman, Gabriel	3/31/2021	2.00	200.00	400.00
Meeting with FBC for proj	ects			
6 - Odreman, Gabriel	4/7/2021	2.00	200.00	400.00
Mobility meeting with Ike				
6 - Odreman, Gabriel	4/12/2021	3.00	200.00	600.00
Coordinating project timel	ines			
6 - Odreman, Gabriel	4/20/2021	1.00	200.00	200.00
Reviewing communication	s with consultants			
6 - Odreman, Gabriel	4/21/2021	1.00	200.00	200.00
Reviewing communication	s with consultants			
6 - Odreman, Gabriel	4/22/2021	1.00	200.00	200.00
Reviewing communication	s with consultants			
6 - Odreman, Gabriel	4/26/2021	2.00	200.00	400.00
Project status review				
6 - Odreman, Gabriel	5/4/2021	2.00	200.00	400.00
Update in project status wi	th PMs			
6 - Odreman, Gabriel	5/10/2021	2.00	200.00	400.00
Coordination of proejcts				
6 - Odreman, Gabriel	5/12/2021	2.00	200.00	400.00
Meeting with Pct 2				
6 - Odreman, Gabriel	5/17/2021	2.00	200.00	400.00
Project status review				
•				

Project	006696	Fort Bend County Projec	t Management		Invoice	621036
	6 - Odreman, Gabriel	5/18/2021	1.00	200.00	200.00	
	Meeting with					
	6 - Odreman, Gabriel	5/24/2021	2.00	200.00	400.00	
	Status review and coord	lination of bond program pro	jects			
	6 - Odreman, Gabriel	6/3/2021	4.00	200.00	800.00	
	Project status review					
	6 - Odreman, Gabriel	6/8/2021	2.00	200.00	400.00	
	Internal meeting in RPS	review of project with team				
	6 - Odreman, Gabriel	6/9/2021	2.00	200.00	400.00	
	Monthly meeting with I	Pct 2				
	6 - Odreman, Gabriel	6/14/2021	1.50	200.00	300.00	
	6 - Odreman, Gabriel	6/21/2021	4.00	200.00	800.00	
	Reviewing project statu	s and future actions				
ssociate I	Engineer					
	20 - Richardson, Mark	4/13/2021	2.00	125.00	250.00	
	Review of agreements a needed for bid phase on	and addendums to contracts a remaining projects	and investigation	n of items		
lerical						
	29 - Diederich, Diana	4/21/2021	1.50	90.00	135.00	
	Proposal review, routing	g & approvals				
	29 - Diederich, Diana	4/26/2021	1.00	90.00	90.00	
	Proposal approvals and	signatures				
	29 - Diederich, Diana	4/28/2021	1.00	90.00	90.00	
	Proposal approvals, sign	natures, file management				
	29 - Diederich, Diana	6/8/2021	1.50	90.00	135.00	
	Process contract for cou	rt with supporting document	S			
	Totals		67.50		13,750.00	
	Total Labor					13,750.00
						\$13,750.00

# **Professional Personnel**

		Hours	Rate	Amount	
Project Manager					
6 - Odreman, Gabriel	3/30/2021	1.00	200.00	200.00	
Plan review					
6 - Odreman, Gabriel	4/6/2021	2.00	200.00	400.00	
Update on project redesign	for sidewalks				
6 - Odreman, Gabriel	4/15/2021	2.00	200.00	400.00	
Sidewalk location review					
6 - Odreman, Gabriel	5/10/2021	2.00	200.00	400.00	
ROW issue with developer					
Totals		7.00		1,400.00	
Total Labor					1,400.00

\$1,400.00

# **Professional Personnel**

		Hours	Rate	Amount
Department Manager				
30 - Gonzalez, Martin	3/31/2021	2.00	250.00	500.00
QC 100% Plans				
Project Manager				
6 - Odreman, Gabriel	3/18/2021	2.00	200.00	400.00
Driveways review				

roject	006696	Fort Bend County Proje	ct Management		Invoice 6	521036
	6 - Odreman, Gabriel	3/24/2021	1.00	200.00	200.00	
	CDs delivery coordinati	on for bid				
	6 - Odreman, Gabriel	3/25/2021	1.00	200.00	200.00	
	CDs delivery coordinati	on for bid				
	6 - Odreman, Gabriel	3/29/2021	1.00	200.00	200.00	
	Plan review					
	6 - Odreman, Gabriel	4/6/2021	3.00	200.00	600.00	
	Pre-bid meeting					
	6 - Odreman, Gabriel	5/6/2021	1.00	200.00	200.00	
	Bid coorination	5/10/2021	2.00	200.00	400.00	
	6 - Odreman, Gabriel	5/10/2021	2.00	200.00	400.00	
	Project bid coordination		1.00	200.00	200.00	
	6 - Odreman, Gabriel	5/17/2021	1.00	200.00	200.00	
	Project status review	5/20/2021	1.00	200.00	200.00	
	6 - Odreman, Gabriel	5/20/2021	1.00	200.00	200.00	
	Project status review	5/26/2021	1.00	200.00	200.00	
	6 - Odreman, Gabriel	5/26/2021	1.00	200.00	200.00	
	Bid opening follow up v 6 - Odreman, Gabriel	6/7/2021	1.00	200.00	200.00	
	Bid sheet review for 3rd		1.00	200.00	۷٠٠.٥٥	
	6 - Odreman, Gabriel	6/8/2021	1.00	200.00	200.00	
	Bid sheet review for 3rd		1.00	200.00	200.00	
	6 - Odreman, Gabriel	6/14/2021	1.50	200.00	300.00	
ssociate E		0/14/2021	1.50	200.00	300.00	
330Clate L	9 - Edwards, Katlyn	5/20/2021	1.50	125.00	187.50	
	meeting to transfer respo		1.50	123.00	107.50	
	9 - Edwards, Katlyn	5/21/2021	.50	125.00	62.50	
	•	oint of contact to inform the			02.50	
	them	ont of contact to inform th	at I will now be e	ontacting		
	9 - Edwards, Katlyn	5/24/2021	.50	125.00	62.50	
	spoke with design engin	eer to confirm there is no o	utstanding questi	ons or		
	concerns before bid					
	9 - Edwards, Katlyn	5/25/2021	.25	125.00	31.25	
	weekly FBC meeting					
	9 - Edwards, Katlyn	6/1/2021	.50	125.00	62.50	
	FBC Weekly meeting					
	9 - Edwards, Katlyn	6/8/2021	2.00	125.00	250.00	
	-	nd preparing bid documents				
	9 - Edwards, Katlyn	6/10/2021	.50	125.00	62.50	
	followed up with bid do					
	9 - Edwards, Katlyn	6/11/2021	2.00	125.00	250.00	
	get bid documents prepa		1.00	125.00	125.00	
	9 - Edwards, Katlyn	6/14/2021	1.00	125.00	125.00	
		d ensuring FBC recieved bi			40 FO	
	9 - Edwards, Katlyn	6/21/2021	.50	125.00	62.50	
		and preparing for pre bid n	_	125.00	107.00	
	9 - Edwards, Katlyn	6/22/2021	1.00	125.00	125.00	
	FBC Weekly Meeting	6/02/0001	1.00	125.00	125.00	
	9 - Edwards, Katlyn	6/23/2021	1.00	125.00	125.00	
	confirmed meeting detail		1.00	125.00	125.00	
	9 - Ihsan, Elisa	3/18/2021	1.00	125.00	125.00	
	communication with the		1.00	125.00	125.00	
	9 - Ihsan, Elisa	4/6/2021	1.00	125.00	125.00	
		rence B21-069 Construction nunication with the consulta		і гаскег		
	9 - Ihsan, Elisa	4/21/2021	1.00	125.00	125.00	
	Check conflict with utili		1.00	123.00	123.00	
	9 - Ihsan, Elisa	4/27/2021	.50	125.00	62.50	
		e consultant	.50	120.00	52.50	

Project	006696	Fort Bend County Projec	t Management		Invoice	621036
	19 - Richardson, Mark	3/23/2021	1.00	125.00	125.00	
	Coordination with engine	eer for bid package contents	1			
	19 - Richardson, Mark	3/24/2021	2.00	125.00	250.00	
	Coordination with engine	eer and county departments	for bid package	submittal		
	19 - Richardson, Mark	3/31/2021	1.00	125.00	125.00	
	Review of project plans	for bid opening				
	19 - Richardson, Mark	4/1/2021	1.00	125.00	125.00	
	Review of comments on addressal	plans and communication v	vith design cons	ultant for		
	20 - Richardson, Mark	5/12/2021	2.00	125.00	250.00	
	Pre bid meeting preparat	ion and meeting				
	20 - Richardson, Mark	6/7/2021	1.00	125.00	125.00	
	Compilation of bid packa	age				
	20 - Richardson, Mark	6/10/2021	1.00	125.00	125.00	
	Bid package check and s	ubmittal				
	Totals		43.25		6,968.75	
	Total Labor					6,968.75
						\$6,968.75

**Professional Personnel** 

			Hours	Rate	Amount	
Project Mana	ger					
	6 - Griffin, Jonathan	3/22/2021	1.00	200.00	200.00	
	Coordinate with LJA for resolu-	tion on culvert crossing				
	6 - Griffin, Jonathan	3/26/2021	1.00	200.00	200.00	
	Coordinate with LJA for resolu-	tion on culvert crossing				
	6 - Griffin, Jonathan	3/29/2021	1.00	200.00	200.00	
	Coordination with FBC and KB	Home to obtain agreem	ent for culver	t extension		
	6 - Griffin, Jonathan	3/30/2021	1.00	200.00	200.00	
	Coordination with FBC and KB	Home to obtain agreem	ent for culver	t extension		
	6 - Griffin, Jonathan	4/19/2021	1.00	200.00	200.00	
	Construction coordination with	LJA				
	6 - Griffin, Jonathan	4/23/2021	1.00	200.00	200.00	
	Help prepare a draft agreement	for culvert crossing				
	6 - Griffin, Jonathan	5/27/2021	1.00	200.00	200.00	
	Coordination for Waterline					
	6 - Griffin, Jonathan	6/14/2021	1.00	200.00	200.00	
	Coordinate with LJA for land a	cquisition				
	6 - Odreman, Gabriel	5/10/2021	2.00	200.00	400.00	
	Coordination with developer for	r pond dirt				
	6 - Odreman, Gabriel	5/18/2021	2.00	200.00	400.00	
	Project status review					
	6 - Odreman, Gabriel	5/26/2021	1.00	200.00	200.00	
	Review of project status					
	Totals		13.00		2,600.00	
	Total Labor					2,600.00

# **Professional Personnel**

		Hours	Rate	Amount
Department Manager				
30 - Gonzalez, Martin	4/14/2021	2.50	250.00	625.00
30 - Gonzalez, Martin	5/7/2021	1.00	250.00	250.00
30 - Gonzalez, Martin	6/15/2021	.50	250.00	125.00

\$2,600.00

oject	006696	Fort Bend County Projec	t Management		Invoice	621036
oject Mar	<del>-</del>					
	6 - Griffin, Jonathan	4/27/2021	1.00	200.00	200.00	
	<del>-</del>	ess outstanding comments				
	6 - Odreman, Gabriel	3/29/2021	1.00	200.00	200.00	
	Plan review	1/01/0001	4.00	•0000	•00.00	
	6 - Odreman, Gabriel	4/21/2021	1.00	200.00	200.00	
	Commets review for bid		• 00	•0000	400.00	
	6 - Odreman, Gabriel	5/6/2021	2.00	200.00	400.00	
	Design review comment		4.00	•0000	•00.00	
	6 - Odreman, Gabriel	5/10/2021	1.00	200.00	200.00	
		and of coments for 100% des	-	200.00	200.00	
	6 - Odreman, Gabriel	5/11/2021	1.00	200.00	200.00	
	ROW adquisition	F /10 /0001	1.00	200.00	200.00	
	6 - Odreman, Gabriel	5/19/2021	1.00	200.00	200.00	
	Project status review	T/0 0001</td <td>2.00</td> <td>200.00</td> <td>400.00</td> <td></td>	2.00	200.00	400.00	
	6 - Odreman, Gabriel	5/26/2021	2.00	200.00	400.00	
	-	evision and ROW deed from		200.00	200.00	
	6 - Odreman, Gabriel	6/8/2021	1.00	200.00	200.00	
		deed needed and design plan	-	200.00	400.00	
	6 - Odreman, Gabriel	6/22/2021	2.00	200.00	400.00	
	=	cordning and project plans co	ompletion			
sociate E		2/10/2021	1.50	125.00	107.50	
	19 - Richardson, Mark	3/18/2021	1.50	125.00	187.50	
		f ROW acquisition documen			125.00	
	19 - Richardson, Mark	3/31/2021	1.00	125.00	125.00	
	church	and investigating update for	_			
	19 - Richardson, Mark	4/1/2021	1.00	125.00	125.00	
		ade on plans and communica	-			
	19 - Richardson, Mark	4/6/2021	1.00	125.00	125.00	
	Review of ROW acquisi relocation	iton process for church parce	els and proposed	gate		
	20 - Richardson, Mark	4/12/2021	1.00	125.00	125.00	
	Plan review	4/12/2021	1.00	123.00	123.00	
	20 - Richardson, Mark	4/14/2021	2.00	125.00	250.00	
					230.00	
	and construction	review of fence relocation in	preparation for	old opening		
	20 - Richardson, Mark	4/21/2021	1.50	125.00	187.50	
	· · · · · · · · · · · · · · · · · · ·	eparation for bid opening	1.00	120.00	107.00	
	20 - Richardson, Mark	4/27/2021	2.00	125.00	250.00	
		iew of final comments on pla			200.00	
	20 - Richardson, Mark	4/29/2021	1.00	125.00	125.00	
		iltant for comment addressal		120.00	120.00	
	20 - Richardson, Mark	5/4/2021	1.00	125.00	125.00	
		iltant to finalize design for b		120.00	120.00	
	20 - Richardson, Mark	5/6/2021	1.50	125.00	187.50	
		ments for consultant to finali				
	20 - Richardson, Mark	5/10/2021	2.00	125.00	250.00	
		ultant for finalization of design				
	20 - Richardson, Mark	5/17/2021	2.00	125.00	250.00	
		files for finalization of drive				
	20 - Richardson, Mark	5/20/2021	1.00	125.00	125.00	
				123.00	123.00	
		ultant to finalize drawings be	2.00	125.00	250.00	
	20 - Richardson, Mark	5/25/2021			250.00	
		n for exhibits of driveway de ement the detail. ROW upda				

Project 0066	96 For	t Bend County Proj	ect Management		Invoice	621036		
20 - Ri	chardson, Mark	5/27/2021	1.00	125.00	125.00			
	nation with Kavi to drav	w driveway details	and finish final cor	nments and				
design		- /a /a oa 4	• • •	40.500	•••			
	chardson, Mark	6/2/2021	2.00	125.00	250.00			
	nation with consultanat	-		-	125.00			
	chardson, Mark	6/3/2021	1.00	125.00	125.00			
	of submitted plans	c /9 /0001	2.00	125.00	250.00			
	chardson, Mark	6/8/2021	2.00	125.00	250.00			
	Coordination with engineer for final design revisions and bid package compilation							
-	chardson, Mark	6/10/2021	1.00	125.00	125.00			
	with consultant to final		1.00	120.00	120.00			
-	chardson, Mark	6/14/2021	2.00	125.00	250.00			
	ation of construction pla				20.00			
	chardson, Mark	6/16/2021	2.00	125.00	250.00			
	view of proposed WKB				230.00			
	chardson, Mark	6/23/2021	2.50	125.00	312.50			
	of final plans and project		2.50	123.00	312.30			
	chardson, Mark	6/25/2021	2.00	125.00	250.00			
	ening preparation	0/25/2021	2.00	123.00	230.00			
Dia op	Totals		54.00		8,225.00			
	Total Labor		34.00		0,223.00	8,225.00		
	Total Labor					0,225.00		
						\$8,225.00		
Professional Personn	el							
1 101055101141 1 0150111			Hours	Rate	Amount			
Senior Project Manage	ar		Hours	Nate	Amount			
	lje, Bassem	3/22/2021	1.00	240.00	240.00			
	nge, Bassem nation with PGAL/TxD		1.00	240.00	240.00			
	lje, Bassem	3/24/2021	1.00	240.00	240.00			
	nge, Bassem nation with PGAL/TxD		1.00	240.00	240.00			
	lje, Bassem	4/21/2021	2.00	240.00	480.00			
	nje, Bassem n follow up with TxDO			240.00	460.00			
Deesig	Totals	1 aliu FOAL - Ilivo			060.00			
			4.00		960.00	040.00		
	Total Labor					960.00		
						\$960.00		
Reimbursable Expen	ises							
Reim Exp-Mileage								
EX 000000024711	4/7/2021	Odraman Cabria	l / Trip to FBC Of	figo /	34.72			
EA 000000024/11	4/ // 2021		with Ike / 62.00 m		34.72			
EX 000000024790	5/12/2021		l / Precint 2 Meetin		34.72			
LA 000000024770	3/12/2021	Meeting / 62.00 r		ng / Treemt 2	34.72			
EX 000000024790	5/13/2021	_	l / Chimey Rock D	Developer	34.72			
211 000000021770	0,10,2021		Rock Developer		52			
		62.00 miles @ 0.		Č				
	Total Reimbursah	oles		1.0 times	104.16	104.16		
						\$104.16		
						φ104.10		
						\$34,007.91		
				Total this	s Report	\$34,007.91		
				2 July Ville	r	70.,007.01		



# FORT BEND COUNTY, TEXAS PURCHASE ORDER

**P.O.NUMBER**: 117762

PAGE #: Page 1 of 2

**P.O.DATE:** 9/12/2014

**DELIVERY BY: 9/30/2018** 

**BUYER: Shenae Theriot-Mericle** 

VENDOR: 14209 SHIP TO: ENGINEERING

RPS/KLOTZ ASSOCIATES, INC
1160 DAIRY ASHFORD, STE 500

301 JACKSON STREET 4th FLOOR RICHMOND TX 77469

HOUSTON TX 77079

D. WAYNE KLOTZ

BILL TO:COUNTY AUDITOR 301 JACKSON RICHMOND, TX 77469

#### Deliveries must be made to the address and suite number listed above

The contents of this section are required by Texas Law and are included by County regardless of content.

Agreement to Not Boycott Israel Chapter 2270 Texas Government Code: By acceptance of purchase order, Contractor verifies Contractor does not boycott Israel and will not boycott Israel during the term of this Contract.

<u>Texas Government Code Section 2251.152 Acknowledgment</u>: By acceptance of purchase order, Contractor represents pursuant to Section 2252.152 of the Texas Government Code, that Contractor is not listed on the website of the Comptroller of the State of Texas concerning the listing of companies that are identified under Section 806.051, Section 807.051 or Section 2253.153.

DESCRIPTION		QUANTITY		UNIT COST	EXTEND COST
1 20	013 PROJECT MANAGEMI	712,875	EA	\$1.00	\$712,760.76
S	OQ 14-025				

13201 - Beechnut Blvd, 13202 - Bellaire Blvd (San Pablo Dr to FM 1464 (Clodine Rd)), 13203 - Chimney Rock Blvd, 13207 - Lake Olympia Parkway Segment 1 (Hurricane Ln to Chimney Rock), 13208 - Ludwig F 13211 - Sugar Land-Howell Rd, 13318 - Spring Green Blvd, 13401 - Beechnut Rehab, 13403 - Owens Rd, 13411 - West Airport Blvd.

Approved Commissioners Court 9/2/14

Amendment Approved in CC increase by 82,875.00 notto exceed 712,875.00 5/26/15

Second Amendment Approved in C.C. 8.9.16 an additional \$295,000; total contract amount not to exceed \$1,007,875

3rd Amendment approved in CC 11.14.17.

4th Amendment Approved in CC for a total contract amount not to exceed \$1,407,875

2 2013 PROJECT MANAGEMI 114 EA \$1.00 \$0.00 SOQ 14-025



# FORT BEND COUNTY, TEXAS PURCHASE ORDER

**P.O.NUMBER**: 117762

PAGE #: Page 2 of 2

**P.O.DATE**: 9/12/2014

**DELIVERY BY: 9/30/2018** 

**BUYER:** Shenae Theriot-Mericle

VENDOR: 14209 SHIP TO: ENGINEERING

RPS/KLOTZ ASSOCIATES, INC
1160 DAIRY ASHFORD, STE 500

301 JACKSON STREET 4th FLOOR RICHMOND TX 77469

HOUSTON TX 77079

D. WAYNE KLOTZ

BILL TO:COUNTY AUDITOR 301 JACKSON RICHMOND, TX 77469

#### Deliveries must be made to the address and suite number listed above

The contents of this section are required by Texas Law and are included by County regardless of content.

<u>Agreement to Not Boycott Israel Chapter 2270 Texas Government Code</u>: By acceptance of purchase order, Contractor verifies Contractor does not boycott Israel and will not boycott Israel during the term of this Contract.

<u>Texas Government Code Section 2251.152 Acknowledgment</u>: By acceptance of purchase order, Contractor represents pursuant to Section 2252.152 of the Texas Government Code, that Contractor is not listed on the website of the Comptroller of the State of Texas concerning the listing of companies that are identified under Section 806.051, Section 807.051 or Section 2253.153.

## DESCRIPTION QUANTITY UNIT COST EXTEND COST

13201 - Beechnut Blvd, 13202 - Bellaire Blvd (San Pablo Dr to FM 1464 (Clodine Rd)), 13203 - Chimney Rock Blvd, 13207 - Lake Olympia Parkway Segment 1 (Hurricane Ln to Chimney Rock), 13208 - Ludwig F 13211 - Sugar Land-Howell Rd, 13318 - Spring Green Blvd, 13401 - Beechnut Rehab, 13403 - Owens Rd, 13411 - West Airport Blvd.

Approved Commissioners Court 9/2/14

Amendment Approved in CC increase by 82,875.00 not to exceed 712,875.00 5/26/15

Second Amendment Approved in CC 8.9.16 for an additional \$295,000 for a total contract amount not to exceed \$1,007,875.00

3 2013 PROJECT MANAGEMI 545,114 EA \$1.00 \$545,114.24 SOQ 14-025

4 2013 PROJECT MANAGEMI 150,000 EA \$1.00 \$150,000.00 SOQ 14-025

**GRAND TOTAL:** \$1,407,875.00